Aa/chroma relatif Cf

1071 chroma relative:

C*=1,0
* =15

échelonnage

O

A a=différence de chromaticité
a=xly

0,3 1,0 2,1

2-003130-LO0  2-003130-FO0 MS590-40, B4_04




Aa/chroma relatif Cf

1071 chroma relative:

C*=1,0
*=1,5

échelonnage

O

A a=différence de chromaticité
a=xly

0,3 1,0 2,1

2-013130-LO0  2-013130-FO0 MS590-41, B4_04




Aa/chroma relatif Cf

1071 chroma relative:

C*=1,0
* =15

échelonnage

O

A a=différence de chromaticité
a=xly

0,3 1,0 2,1

2-103130-LO0  2-103130-FO0 MS590-42, B4_04




Aa/chroma relatif Cf

1071 chroma relative:

C*=1,0
* =15

échelonnage

O

A a=différence de chromaticité
a=xly

0,3 1,0 2,1

2-113130-LO0  2-113130-FO0 MS590-43, B4_04




